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J173V : Action

Q. What is the person doing with his/her hands?

(A) The person is trimming the tape with the scissors in his right hand while holding the roll of
tape with his left hand.

(B) The person’s left hand holds the strap and cuts it with the cutter in his right hand.

(C) The person is tearing the tape by hand while keeping it taut using both hands.

(D) The person is measuring the tape with a measuring tape in his right hand while holding the
cutter with his left hand.

(E) The person is applying tape to a box with the adhesive side down, using his right hand to

press it while holding the box in his left hand.
1E%:(B)

Q. What is the person doing with his/her hands?
(A) The person pries a strip of wood from the wall with the scraper in his right hand.
(B) The person peels a strip of paint off the wall with the scraper in his right hand.



(C) The person pushes a wood piece into the wall with a tool in his right hand.
(D) The person removes a strip of wallpaper from the wall using the scraper in his right hand.

(E) The person carves a groove into the wood on the table using the scraper in his right hand.
1EZ:(A)

J173 : Process

Q. How does the person paint the ceiling with the paint roller?

(A) The person carefully applies paint onto the ceiling using both hands.

(B) The person gently paints the ceiling horizontally using the right hand.

(C) The person paints the ceiling vertically while holding the roller with the left hand.

(D) The person cautiously raises the roller above the head, allowing it to rest on the ceiling.

(E) The person smoothly rolls the roller around in circles on the ceiling using the right hand.
1E%: (B)

Q. How does the person wipe the piece of white cloth with her left hand?

(A) The person wipes the piece of cloth in a circular motion with her left hand around the
surface.

(B) The person moves the piece of cloth back and forth quickly with her left hand.

(C) The person wipes the cloth down along the surface using her left hand in a downward
motion.

(D) The person wipes the piece of cloth from left to right using her left hand.

(E) The person wipes the piece of cloth from right to left using her left hand.

E%: (B)

7173V : Location



Q. Where does the person put the bucket?

(A) The person placed the bucket on top of the other bucket.
(B) The person placed the bucket beside the other bucket.

(C) The person placed the bucket underneath the other bucket.
(D) The person placed the bucket in front of the other bucket.
(E) The person placed the bucket behind the other bucket.
EZ:(A)

Q. Where does the person put the serveware?

(A) The person put the serveware into the top left of the refrigerator.

(B) The person put the serveware onto the bottom shelf of the refrigerator.
(C) The person put the serveware into the bottom right of the refrigerator.
(D) The person put the serveware into the middle section of the refrigerator.

(E) The person put the serveware onto the top right of the refrigerator.
1EZ:(C)

#1731 : State Change

Q. How did the state of a stool change?

(A) The stool was rotated 45 degrees clockwise while remaining on the ground.

(B) The stool was rotated 90 degrees clockwise while tilting slightly.

(C) The stool was rotated 90 degrees counterclockwise while remaining on the ground.
(D) The stool was rotated 180 degrees counterclockwise while lifted briefly.

(E) The stool was rotated 90 degrees counterclockwise while then moving slightly forward.
IEZ:(C)



Q. How did the state of a part of the tent change?

(A) The zipper of the tent was moved from the top to the bottom, causing the flap to close.
(B) The zipper of the tent was moved back and forth, causing the flap to remain partially open.
(C) The zipper of the tent was moved from the bottom to the top, causing the flap to open.
(D) The zipper of the tent was moved halfway, causing the bottom half of the flap to stay shut.
(E) The zipper of the tent was moved slightly upwards, causing a small opening at the bottom
of the flap.

1E%:(C)

7173V : Object Parts

Q. What part of the bicycle cassette is cleaned?

(A) The bottom part of the bicycle cassette is cleaned.
(B) The top part of the bicycle cassette is cleaned.
(C) The inner part of the bicycle cassette is cleaned.
(D) The middle of the bicycle cassette is cleaned.

(E) The back part of the bicycle cassette is cleaned.
1IEZ:(B)

Q. What part of the Jenga tower is removed?

(A) The topmost piece of the Jenga tower is removed.

(B) The piece from the middle section of the Jenga tower is taken out.
(C) The piece from the uppermost layer of Jenga blocks is extracted.
(D) The piece from the left side of Jenga is removed.

(E) The bottom block of the jenga blocks is removed.

1B (E)

J17 2 : Objects
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Q. What object is used by the hands?
(A) Bottle.

(B) Hand drill.

(C) Wire.

(D) Cutter plier.

(E) Tool box.

1E%Z:(C)

Q. What object is used by the hands?
(A) Liquid sprayer.

(B) Pedal.

(C) Chain.

(D) Frame.

(E) Empty container.

(F) Paint brush.

(G) Pressure sprayer.

1EZ:(A), (F), (G) (BEDHHZLTHER)

7% 4 WS TEDORRFED B
() IEZ23 ARG (EEN oA X R —) 724
7173V : Object Parts

Q: What part of the bicycle cassette is cleaned?
1E% : The bottom part of the bicycle cassette is cleaned.
— BETIEH By O EOE G BFERISIL TSIz | IEEEL TG,
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(ii) IEZDOMIZIELY EIRRL 238 55
SV : Action

Q. What is the person doing with his/her hands?

(A) The person is trimming the tape with the scissors in his right hand while holding
the roll of tape with his left hand.

(B) The person's left hand holds the strap and cuts it with the cutter in his right hand.
(C) The person is tearing the tape by hand while keeping it taut using both hands.

(D) The person is measuring the tape with a measuring tape in his right hand while
holding the cutter with his left hand.

(E) The person is cutting the tape using both hands on the wood.

E%: (B)
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